
SAP ABAP table N2BKOE {IS-H*MED: Assignment of authorization category to OU}

N2BKOE

MAND [CLNT (3)]

EINRI [CHAR (4)]

BERKAT [CHAR (15)]

ORGID [CHAR (8)]

BEGDT [DATS (8)]

N2BERKAT

MAND [CLNT (3)]

EINRI [CHAR (4)]

BERKAT [CHAR (15)]
 N2BKOE-BERKAT = N2BERKAT-BERKAT 0..N

1

NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)]

 N2BKOE-ORGID = NORG-ORGID 
0..N

1

T000

MANDT [CLNT (3)]

 N2BKOE-MAND = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N2BKOE-EINRI = TN01-EINRI 

0..N

1


